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( ) V  = P   1    -          1   

    i    (1 + i)
n
 

 

   

1,000,000 =     P         1    -       1      

      0.01    (1.01)
180 

0     

1 480,000 200,000 0.909 618,120 

2 640,000 200,000 0.826 693,840 

3 680,000 200,000 0.751 660,880 

4 600,000 200,000 0.683 546,400 

5 720,000 200,000 0.621 571,320  

    3,090,560 
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,000,000 + 15,000 x 

       0,000  x 

       x

 

x 
   

Y = 30000x Y = 15,000x + 3000000

0 0 3,000,000 

50 1,500,000 3,750,000 

100 3,000,000 4,500,000 

150 4,500,000 5,250,000 

200 6,000,000 6,000,000 

250 7,500,000 6,750,000 

300 9,000,000 7,500,000 

 

30,000x =  3,000,000 + 15,000x 

15,000x = 3,000,000 

         x  = 200   
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20 x 10,000 +1,800,000 + 1,200,000 

 . 3,200,000  

15,000 x (300 x 75%) 

                                                                                     = .3,375,000 

.

. 6,750,000 (300 x 75% x .30,000)   
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        Y - 30,000x 
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15  -  19 

2 x 3 + 7 x 8 + 12 x 10 + 17 x 13 + 24.5 x 6 

          40              

   = 550 

      40 

 

   = 13.75                           

    ==== 
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18 – 50         

    

50 
 

 



 

(7) 

 

  

(km)  

 

0 < x ≤ 25,000 1 1 

25,000 < x ≤ 50,000 5 6 

50,000 < x ≤ 75,000 6 12 

75,000 < x ≤ 100,000 9 21 

100,000 < x ≤ 125,000 14 35 

125,000 < x ≤ 150,000 20 55 

150,000 < x ≤ 175,000 15 70 

175,000 < x ≤ 200,000 5 75 
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                                0.4641      

       

           

                

            0.5 – 0.4641 

 

 

                                     

                                       

                  µ   =  5.25 

                    =  1.25 

 





                       Z    = 3 - 5.25 

                   1.25 

                  = -1.8 
 

  

     = 0.5 - 0.4641 = 0.0359                           

     = 3.59%      

 (ii)  

 

 

   

     75% 

 

           

 

 

                                                                          x 

     Z =   x - µ 

                   

-1.8 
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



 

 

   

     75% 

               

 

 

 

      x 

µ         =  4.25 

         =  0.9    
 

Z =   x - µ 

                                                        
   0.67 =  x - 4.25 

          0.90   
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

 µ  = 2,500 mm     σ    =  256  mm         n   =  40

 µ  ≠ 2,500 mm     x    =  2659 mm

= σ  

          

       n 

     = 256 

         

        40 

      = 40.48   

  



 


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

 

, 1, 2 , … 

 : p(ϒ2) =  P (ϒ = 0) + P (ϒ = 1

     = [(e-
12

*12
0
)/0!]+[(e

-12
*12

1
)/1!]  

    = 13e
-12 

    
= 7.99 x 10

-5
 

      

 R v Po (2)  P (R = r) = e
-2

 2
r
,   r = 0,1,2, ….. 

                r1  

 P (R > 2)  = 1-  [P (R =0) + P (R = 1) + P (R = 2) ] 

                   = 1–[(e
-2

*2
0
/0!)+(e

-2
*2

1
/1!)+(e

-2
*2

2
/2!)] 

                               =  1 – 5e
-2

 

                 =  0.323 

                     ==== 

                        

 =  750 

           500                       

                                                                                           =  1.5                                                                                                                                   

=== 

  

x  Po (1.5) 

            P(x = 0) =  e
-1.5

 

                            =  0.2231 

 =  0.223 

                          ==== 

      P (x = 4)  = e 
-1.5

  x   (1.5)
4
 

                        4! 

          =   0.0470 
                  

=   1.5 
 

P(x > 1.5)    = P (x = 2) + P (x = 3) + ……. 

  = 1 – (P(x = 0) + P (x = 1) )   

  = 1 – (e 
-1.5

 + e 
-1.5

 (1.5) )  

  = 1 – 2.5 e
-1.5 

   

= 0.4421  



 

(12) 

 

 

 

ϒ  Po (3),

 P (ϒ = 0)  =  e
-3

 x 3
o
     

    0! 
      

                   =   0.0497 

 

 
 

2011
 

 

1 0.5 49 

2 1 60 

3 1.5 152 

4 2 123 

5 2.5 175 

6 3 256 

7 3.5 313 

8 4 375 

9 4.5 515 

10 5 496 
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  r = nxy - x.y             

 

       nx2 – (x)
2      

ny
2
 – (y)

2 

   

= 10 x 9,157 – 27.5 x 2,514    

 

       10 x 96.25 – (27.5)
2
    10 x 890,230 – (2,514)

2
  

   

= 0.97 

 

=  339.7 x 61.9% + 239.9 x 9.4% + 563.9 x 4.3% + 109.8 x 5.7% +  293.8 x 

18.7% 

=  318.27    
 

=   8,000 x 318.27 

                     203.2 
 

       =   Rs. 12,530   
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 Y T Y – T 

 

2008 

Q1 99   

Q2 72   

Q3 118 106.63 11.375 

Q4 136 107.50 28.5 

 

2009 

Q1 102 107.75 -5.75 

Q2 76 108.00 -32 

Q3 116 108.75 7.25 

Q4 140 109.75 30.25 

 

2010 

Q1 104 111.00 -7 

Q2 82 112.00 -30 

Q3 120 112.13 7.875 

Q4 144 112.25 31.75 

 

2011 

Q1 101 113.13 -12.125 

Q2 86 113.88 -27.875 

Q3 123   

Q4 147   

 Q1 Q2 Q3 Q4  

2008 0 0 11.375 28.5  

2009 -5.75 -32 7.25 30.25  

2010 -7 -30 7.875 31.75  

2011 -12.125 -27.875    

-8.29167 -29.9583 8.833333 30.16667 = + 0.75 

        0.75/4 -0.1875 -0.1875 -0.1875 -0.1875  

-8.47917 -30.1458 8.645833 29.97917  

-8.48 -30.15 8.65 29.98  
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“ ˜”

“ ˜” suggested 

solution

²
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